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* Imagename: DKU_OS Lab

* Operating System : Ubuntu 16.04 LTS
* Kernel Version : 4.4.0-31-generic

* Hardware Platform : x86 64
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labl sched
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lab2_sync
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main.cpp (~/projects/hansolefsrc) - GVIM

argument of ‘int mainiint, chart)' should be ‘char **" [-wmain] [N

line:4 (3)]
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int main(){
int a,b;

a+1;

printf("test value a : %d\n"

10% :  1/10 :
test.c|9 col 35 error| expected expression before ‘)’ token
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return LAB4
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usr/include/fuse/fuse common.h|32 col 2 error| #error Pl

e_inod
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https://github.com/vim-scripts/AutoComplPop

iv. NERDTree
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int *p = NULL;

return @;

core process 20894 In: main Line: 7 PC: OxB04836T
Loaded symbols for /lib/ld-1linux.so.2

Core was generated by ./foo'.

Program terminated with signal 11, Segmentation fault.

[New process 20894 ]

#0 0x0804836T in main () at foo.c:7

(gdb) print p
$1 = (int *) OxB
(gdb)

e qgdb[ZEZT2 I

o qdb[ZZTZ Z[core L2 I

« gdb[ZZT8 & [HY +HEF2 Z2A429/ PID]
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Program received signal SIGSEGV, Segmentation fault.

Ox0000E000040053c in func (sw=1l, str=0x8) at bugprg.c:12
12 printf{"first char = %c\n", *str);
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in func {sw=l, s B) at bugprg.c:12
in main () at bugprg.c:28
bt & ZRIWO| A% TYYS =XHOE WD M HH
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* (gbb) b func

func E=r0ff Hajjo|3 EZAE 4F
* (gbb) b 10

10 o 2e0[3 =2E 47

* (gbb) b actunc

acTt2Q| func &0 Eaoj|2 =ZQE 47
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* (gdb) info b

(gdb) info breakpoint
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cl, disable, enable, d, 52| FHOE ALES0] M E breakpoint & 4K, 47

g & UCt.

* (gdb) cl func

func &2 AlZ 220 breakpoint X2
* (gdb) cl 10

10 2| breakpoint X|&

* (gdb) delete 1

IeHZ 1 HO| breakpoint & XIS

* (gdb) cla.ctunc

a.c ItYO| func &9 breakpoint X|&
* (gdb) clacio

a.c OIto| 10 2| breakpoint X2

* (9db) d

2E breakpoint X|&

* (gdb) disable br

2 E breakpoint H|Zd3}

* (gdb) disable br 1

1 ¥ breakpoint H|M3}

. (gdb) enable br

B E breakpoint ZQIE 23}

* (gdb) enable br 1

1% breakpoint &%}
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db)s6
db
db)n6
db ) finish
db ) return

(gdb ) return

(adb) s
(adb) ¢
(adb) u
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watch point &4

Z2 MOl B 59 WIIE monitoring SHH CIHZE Al Y. 3 Zto|
O{EA HH=X|, | ZETL HHR{=X] =l & 0 He[5HAH AH8Y £+ ULt
' watch = B0 20| MZE M, rwatch = H==2 7t0| 5 E

= HAL AAL B E ZR0| ALETHCE X[ B0 watch point & H7HStHH

20 A context 7t SIS XY It FolE gt WOl AS M, watch

M, awatch

g Has oY & LHOJTH EXHSH?| W20 i
et=E AMIMFO|X| UACHH, X|YH0| X|E &2 5 20t
e (gdb) watch [E/+ &
e (gdb) rwatch [/ Zj

e (gdb) awatch [+ &

o B0 oIXf YEf ==|7t 7tSOtLf.

e (gdb) info locals

« (qdb) info variables

52 = (struct time *) Ox601O60 -<gtimex
gdb' p *pt
= {thour = 1, min

golstef= 240l HiEY Z2, HiE THE == gdb oA p [B ]
Q 2 0
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hour = 1, min = 2, s

ngb ) p *ptEd

%5

= {{hour = 1, min = 2, s 3}, {hour = @, min = 0, sec = 8}, {hour = @, min = O, sec = 4195956}, {hour = O, min = 4195960, s

void & ZOIEO| & Y W&S p & Sl OlE voidr 2 Cl#Y
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display ¥ o
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« (gdb) display [ 1+ &

* (gdb) undisplay [display £/3]

+ (qgdb) display/[ZEZ & [+ 2

e (qgdb) enable display [display £/2]

* (gdb) disable display [display £/2]
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